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Seating Arrangement Questions for IBPS PO PRE, SBI PO PRE, SBI CLERK 
MAINS & IBPS CLERK MAINS 

Set No 29 
 

Directions: Read the given information carefully and answer the questions given beside: 
 

Ten students Boby, Chitresh, Chintu, Nanak, Mohit, Sachin, Rahul, Shankar, Nitin and Himesh 
are sitting on the chairs in two parallel rows in a coaching centre not necessarily in the same 
order. Boby, Chintu, Nanak, Shankar and Himesh are sitting in the first row not in the same 
order and rest are sitting in the next row. All are attending the Electronics class and face 
towards the board. The last name of each one of them is among- Aryan, Bhatti, Bhadoria, 
Yadav, Saxena, Bashistha, Lavanya, Bharadwaj, Parashar, Shakya not necessarily in the same 
order. 
 
Student with last name as Saxena sits third to the left of Rahul and Nanak sits opposite to the 
student with last name as Saxena. 
Student with last name as Parashar sits between Shankar and Boby. 
Boby sits opposite to the one who sits to the immediate left of Rahul. 
Student with last name as Bharadwaj sits in the left end and Himesh sits third to the right of 
him. 
Student with last name as Bashistha who sits in the middle in the first row sits opposite to the 
student with last name as Lavanya. 
Shankar’s last name is Yadav and sits third to the right of the student with last name as Aryan. 
Student with last name as Bhatti sits between Nitin and Sachin. 
Student with last name as Shakya sits to the immediate right of Chitresh. 
Student with last name as Aryan sits opposite to the one who sits to the immediate left of 
Sachin. 
Student with last name as Bhadoria does not sit in between of the row. 
 
1. Whose last name is Shakya? 

A. Rahul  B. Chintu  C. Mohit  D. Boby  E. None of these 
  

2. Which one of the following persons has last name as Saxena? 

A. Mohit  B. Chitresh  C. Rahul  D. Cannot be determined  
E. None of these 
 

3. Who sits to the immediate right of Mohit? 
 

A. Sachin  B. Rahul  C. Chitresh  D. The one whose last name is Bhadoria  
E. None of these 

 



 

 

4. Who sits between the one whose last name is Parashar and Chintu? 
 

A. Mohit   B. Nanak  C. Himesh  D. Boby  E. None of these 
 

5. Four of the following five are alike in a certain way and thus forms a group. Find the one 
which does not belong to that group? 

A. Nanak  B. Chitresh  C. Rahul  D. Nitin  E. Shankar 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Correct Answers: 

1 2 3 4 5 

C B A D C 

 



 

 

Common Explanations: 
Final Image  

 
Common explanation: 
 
Reference: 
Student with last name as Bashistha who sits in the middle in the first row sits opposite to the Student with 
last name as Lavanya. 
 
Inference: 

 
 
Reference: 
Student with last name as Bharadwaj sits in the left end and Himesh sits third to the right of him. 
  
 



 

 

Inference: 

 
Reference: 
 
Shankar’s last name is Yadav and sits third to the right of the Student with last name as Aryan. 
 
Inference: 

 
 Reference: 
 
Student with last name as Aryan sits opposite to the one who sits to the immediate left of Sachin. 
Student with last name as Parashar sits between Shankar and Boby. 
  
Inference: 

  
 
Reference: 
Boby sits opposite to the one who sits immediate left of Rahul. 



 

 

 Inference: 

 
Reference: 
Student with last name as Saxena sits third to the left of Rahul and Nanak sits opposite to the Student with last 
name as Saxena 
  
Inference: 

 
 
Reference: 
 
Student with last name as Bhatti sits between Nitin and Sachin. 
Student with last name as Shakya sits to the immediate right of Chitresh. 
  
Inference: 

 
 
 



 

 

Final Image  
 

 
 
Answers : 
 

1. Following common explanation  we get 
Mohit's last name is Shakya. 
Option C, is hence the correct answer. 
  
 

2.   Following common explanation we get 
Last name of Chitresh is Saxena. 
Option B, is hence the correct answer. . 
 
 

3.  Following common explanation we get 
Deependu likes Wrestling. 

Option A, is hence the correct answer.. 

 

 

4.   Following common explanation we get 
Boby sits between the one whose last name is Parashar and Chintu. 

 Option D, is hence the correct answer. 

 

 

5.  Following common explanation we get 
Rahul does not sit on the extreme end of any row so is different from the group. 
Option C, is hence the correct answer. 
. 

 



 

  

https://testzone.smartkeeda.com/Test/Pricing

